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1. Optiens shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 7F 9 o= SfER & o A & Wi sae = wfEteies s 1 W ahE ; ?

& ¥ 233,650 ¥ o 9EN gEnr wetaw A s o v Afe A uestion Iy 58 Lk

2 Fat Status : Answered
Chosen Option - 4

Expanditure of Family

Expenditure of family - T @

Provident Fund - ®fiesr i

Food- amEw Tamy

House Rent - &7 & T30 Entertainment - FRH=
Child Education - Tedf #1 waré

Medical - Zamsar

The chart represents the domestic expendinare of a family per month. If the family income
is ¥ 33,620 then the total money spent by the family on entertainment and food together
per month is:

Expenditure of Family

i Bl

ans X 1.311,144
X 2311,442
X3 T11,414
v 0 T11,441

Q2 cup + H, - Cu+ H,0 TF TiaTor o & & gy v 3gmaor &
Cul + Hy — Cu + H, 0. This equation is an example of:

Question 10 : 9864493349

Status : Not Answered
Ans EREEC] Chosen Option : -




s

Decomposition

» 2

Q3 Fferr Fefleror (taxonomy) F Feffetor #r 77 578 Fr £ ?
What is the basic unit of classification in taxonomy?
Ans HH

Question ID : 9864493315
Status : Answered
Chosen Option : 4

.T Species

Q.4 g Fefdm & am aaw e &= & Fror aeafow g 99 @ 87
MName the vitamin whose deficiency causes excessive bleeding?

£ x1_ﬁzrﬁ=rs

Question 1D : 9864493436
Status : Answered
Chosen Option ;4

Vitamin B
X2 Fa@a A
Vitamin A
% Fafda C
Vitamin C
, Farfde K
Vitamin K

v

Q.5 mr a3 # 10 Fiviey & vew T TR OF S AW AT e ST T
s # ofy dw & aug & gh o #eher b A offie Bt g o w0

An object is placed on the principal axis of a convex lens of focal length 10 cm. If the

Question 1D : 9864493244
Status : Answered

distance of the object from the lens is 30 cm, what is the distance of the image formed? Chosen Option : 2
- x 1 20 WA
20 cm
V2 15 HEHART
15 ecm
X 5 10 WEHT
10 cm
x 4 30 HAAT
30cm
Q.8

Question 1D : 9864494002
Status : Answered
Chosen Option -2




Ans

fir v w97 T =t A oT W e PR e & & s wue
Y 3o N R i oo B

UuvwxiymsiwamsymamEiermwaiml

L LN

1D AMFEaTEIT
2Cc B FEamdm b
Consider the given question and decide which of the following statements is sufficient 1o

answer the question.
U, W, W, X and Y are sitting at a round table; who is sitting next to B?
Statements:

1. Dvis sirting between A and F.
2, C is sitting between B and F,

v e
for T w3 F 3o 2 ¥ fAw 1 3k 2 At wuem F

Both 1 and 2 are sufficient to answer the given question.

52
RU T T I T F Mo ar a1 A & 2 wurm ¥

Meither 1 or 2 is sufficient to answer the given question.
r
e o0 S = SewT & & BT 1 v oo &, SR 2 sk oofew o
I
liﬂnnci.f.ml'l‘mm while 2 alone is not sufficient to answer the given question.
75 4
far v wyA # IEAT & & TR 2 kA gutex & FafE 1 aear oot a2
Bl

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

Q.7

Ans

T & T H TS IEHEEET W waied # 50 OF Zua @ A @ i
Trme ooT & wror g

Lime water tums milky when carbon diowide is passed through it. It is due to the
formation of:

Cuestion |0 : 9864493492
Status - Answered
Chosen Oplion 3

x | R@\ FEfae
Barium Carbonate
x 3 Ffeermw aitewEe
Calcium Oxide
o ; PIOEH Hrafae
Calcium Carbonate
) FomH gEEIeT FEfae
Calcium Hydrogen Carbonate

X

Q.8

Ans

wEdt 2018 F, FnT mrRw fes (Feeg Ut & #F & wEe o i
it =t 77 e (Fe) S A g oo

As of February 2018, which Indian pacdiatrician has been appointed as the Deputy
Director Greneral (Programmes) in the World Health Organisation (WHO)?

Question 1D ;9864492225
Status : Answered
Chosen Option : 4

5, & o i
Dr. Indira Hinduja

, 5. TH. 3. g
Dr. SI Padmavati

, BT, FIfAe T
Dr. Kamini Rao

X

X



«,4zr”.;=i1'mamu:r

Dr. Soumya Swaminathan

Q.9

Ans

fer 7T SEEEAt ST 79 AW &7 99 AT o7 57 &1 & ot 7 () e
Tl AT T W AT (F ) A )

CQuestion |0 : 9864494267
Status - Answered
Chosen Option : 3

T¥TET
Fo £ w=h § | wh = 5

ek

1, o oash F
2gmREwa i

Consider the given statement to be true and decide which of the given conclusion(s)
logically follow{s) from the statement.

Statement:
Some bugs are birds. All the binds are fruits.

Conclusions:

1. All the fruits are birds.
2. Some of the bugs are finsits.

et ey 2 TEIOT FIT ¢

| Only conclusion 2 follows.

gl A 2 Pt FET F g
Both conclusions 1 and 2 follow.

|1 3K 2 3t sregeRor 7@ F E
Neither conclusion 1 nor 2 follows.

| e T 1 3T FT B

Only conclusion 1 follows.

v

x

X

X

Q10 v =ofFa 40 e o o & ofs & i oo #iew 1 e o

wEw = &, el 36 fesiier o o f ofy F il oeer 9 aE iR 3
e &7 & wiom Baw & Sfifsw s & o et ohr (e &) Ao
e &7

Cuestion 1D : 9864492670
Status : Answered
Chosen Option :1

A person driving a1 the speed of 40 kmbr reaches office 1 minute early while he reaches 3
muntes late if driving at 36 ken'hr, What is the distance (in ko) that she is covering?

Ans X.I 32
72 28
W24
4 30

a1

Question 1D : 9864493732
Status : Answered
Chosen Option : 2




faw a1 = faweat (Answer figures) # # #rr & o gee W (Problem
figure) &1 8 # &= 161 WET WiATaE I

C L]

From the given four answer figures choose the comrect water image of the problem figure.
Protilem Figure

Ans X1B
v:2D
XsC
XA

Q12 NTP o H X F 10 A &1 AT 5.6 ST B X w1 HorEe s o
The volume of 10 g of gas X is 5.6 litre at NTP. What is the molecular weight of X7

ans 120

Question 1D : 9864493127
Status : Answered
Chosen Option ;4

v 40
X 350
X 4 60

Q13 ﬂmm#m,nmmﬁgama& ABdTcEEmamEEATE st A0 B

=988 B CF@mAAT

If A, B and C are denoting Mean, Median and Mode of a data and A B = 9 ; 5 then the
ratio of B ; C is:

Question 1D : 9864492597
Status : Not Answered
Chosen Option : -

Ans X' 1.5:4
X28:9
X37:6
vig:3

Q.14 g1 S T ot & Fraree o Tew dW AW LW W oA B oAE g T
T ¥ T el wRt A e o

Iron which resembles Cobalt and Nickel in properties has been placed far away from these
elemeents. This was one of the limitations of:

Question ID : 9864493254
Status : Not Answered
Chosen Option : -

A X1 Hehg #r 3maq |l
Mendeleev’s periodic table
o, TR F B
Dobereiner’s triads
| 3T e T
Modem periodic table
L OFeisE F HiFeew FIH

Newlands® law of octaves

Q.15 Fwgr 3331 TR 11 & TFonsg & & « & =T a3 #7412
If the number x3331 is divisible by 11, what is the face value of x7

Question 1D : 9864492684



Ans ?{1 5

r 1

4

vi2
X43

Status - Mot Answered
Chosen Option ; -

Q.18 5w & & Sl 2018 & T3 A Tt @ Shewr s T R
Which team created history by winning the Ranji Trophy for the first time in January

20187

Ans
v

75 4

West Bengal

ST
Kerala

Question |D : 9864492400
Status : Answered
Chosen Option :1

O Grafafle F7 A ¥ B g &1 939 #:1

Question 1D : 9864494306
Status : Answered
Chosen Option :3

g |

¢

e

J

1

Select the odd figure out of the following series.

2

3

4

| T[]
1 2 3 a4
LU SR |
X222
X34
V3

Q18 Tomer FeawE ® TEw, 996w & Teme  guefEar Sumet & e 8
TR TE AW R F A AR A #ar =

Before Champaran Satyagraha, the farmers of Champaran used to follow the
‘panchkathiva” system, whereby five katthas of land in a bigha had to be planted with

Question 1D ;98644921056
Status : Answered
Chosen Opfion ;2




e
o4
jute

Q.19

Ans

AW # o weatas T, TR A e & A F s s e o
ok & w1 ofy ol & wEE o TeeEtTr & Swor eor g A 3E
TF W IEEAT & ST ST B @

Consider a hypothetical planet with & mass equal to half that of Eanth and radius is ose-

Question 1D : 9864493440
Status : Not Answered
Chosen Option : -

third that of Earth. 1f g is the acceleration due 1o gravity on Earth, the acceleration due to
gravity on the planet will be:

X1 (52)g
v (92)¢g
X3(12)g
X4(32)g

Q.20

et & & #iw 7 49 i R ot = w6 o F vkt s
&

o7, &, 9

Question 1D : 9864493660
Status - Answered
Chosen Option : 4

Which of the following Venn diagrams correctly représents the following classes:

o

Q21

Ans

Prwssrra st S Sadm st s
e & @

Question 1D ; 9864494270
Status : Answered
Chosen Option : 2

T
TF T A ¥ W A A e - o R
AT

1. 3RS wew w4 f
2 @ aEs B S & @ A
Consider the given staterment and decide which of the given assumpdions is (are) implicit.

Statement:

*Triple your money in one year” — an advenisement,

Assumptions:

I. The assurance is not genidne.
. People want their money multiplied.

x , P Aar 1 B
Only assumption I is implicit.



2_13ﬂrza’lﬂ‘fﬁrﬁaaﬁi\‘|

Neither assumption I nor II is implicit.
e A 2 Ak g

Only assumption II is implicit.
n 3 2 3= AR &

Both assumptions I and II are implicit.

x

v

X

Q.22

Ans

i T wE = ow AW A TE o A B s & wte & Tt e
TRETT T R S 8w

L CH

Question 1D : 9864493643
Status - Answered
Chosen Option 4

wfEE w0 a1 S g AR )

Foremd:
1. mir gfawme s T §

2. vfem gfw 1

Consider the given stafements to be troe and decide which of the conclusions logically
followis) from the statements.

Statements
Sachin is a good bateman. Batsmen are intelligent.

Conclasions

1. All infelligent people are batsman.
2. Sachin is intelligent.

751
forsg 1 3K 2 A= & 9o @ @7 B

Both 1 and 2 follow.
X 2
Far1 @ A T E 2 F I B @

Neither 1 nor 2 follows.
s Faor THY 1 FT 9reT &' @ 2
Only conclusion 1 follows.

¢4ﬂﬁlﬁﬁﬁ;&2ﬁrw3‘fm%l

Only conclusion 2 follows.

Q.23

Ans

fefaf@m foen #, o e (7) @0 fg@mn e setre §
o et & weEteye e @ Owe w

Question 1D : 9864494196
Status : Answered
Chosen Option : 2

QNKH,?

In the following series, one letter is missing as shown by the question mark (7). Select the
missing letter from the given options.

QN KH?
X1.C
V:E
X3 A
X4 F

Q.24

Ans

ASEA & UAaw geuRE 14 § o gemae w1 e
itrw ZEmT T g

Atomic mass of Mitrogen is 14 and that of Hydrogen is 1. What will be the molecular mass
of Ammonia?

Cuestion 1D ;9864493428
Status : Answered
Chosen Option 3

v 117



X218

> 315
< +16
% for gl ﬁ’ Question |0 : 9864492719
24+(19-9+3Xx9)=? Status : Answered
Chasen Cption ;4
Solve the following:
24+(19-9+3x9)=?
Ans 21 4
B
F N
vi-3
o g gt Question |D - 9864492760
Status : Answered
123+123+1.23+0.123 +0.0123 =? Chosen Option -4
Solve the following:

123+123 +1.23+0.123 + 0.0123 =?
Ans X 1.136.653
X 2.136.7760
« 3136.7659
v+ 136.6653

Q27 ! y -
TF O 5 %A Waner s 9T 3% A F AF A §w 12,790 # = Question |0 - 9864492927

¥ T & ko Rt O Status : Answered
AL 5 simple inferest per annum & certain sum yields o total amount of 7 2,790 a1 the end Chosen Option : 1

nd'!i-ym‘lhsumimtﬂcd Wi

Ans  of 1 72,400
X 2 2,350

X 332,600
X 4 ¥2,550

Q28 ofs LAt +, MAR -, N ARF = T P A+, At ENOLGOPIMI3 =7

IFL stands for +, M stands for =, N stands for = and P stands for +, then S N 9L 60 P 3 M Question 1D : 9384494349

13=1 Status : Answered
Ans (1 79 Chosen Option 11
X 2103
X395
X 489

Q.29 waft 2018 &, oF Tew woen sfRTw & B e o ol s = : _
T TR & §F CREET & 77 & AvEe B e Question |D - 9864492291

As of February 2018, which famous Bollywood actor has been named as the brand Status : Answered
ambassador of ‘Resurgent Rajasthan’, a state government campaign? Chosen Option -1

Ans x1_3ﬂamaea;r

Amitabh Bachchan



] Irrfan Khan

Q.30 wa w, 50 4% Y 25 ¥ & o Tt 1 HE 03,75 T f ol Sl wmm ) :
A 3 4 ¢ § B T T i v s S Question 1D : 9864492485

. R . Status : Answered
Some one nipee, 50 paisa and 25 paisa coins make up rupees 93.75 and their numbeérs are .
in the proportion of 3 ; 4 : 5.Find the mumber of each type of coins? Chosen Option : 1

Ans o 1 45, 60, 75
X 2 46, 58,75
X 340,70, 75
X 4 42,56,70

Q.31 faw von TEET T ¥ @ § sS weR AEr . d EEfoE

‘Alone’ s related to “Unaccompanted® in the sanve way as “Amount’ is related to Ruesiicn Ikh: 95 164

Status : Not Answered

Ans ﬁj;q‘ Chosen Option : -

1

Solitary
X2 ICICET

Secluded
x 3 Ussh
Quake
gfyATT

Quantity

v

Q.32 5
ﬁxmmwmwmﬂ B & S & or F A Question ID : 9864493485

-y ; — Status : Answered
If the angle of incidence formed on a concave mirror at a point is 30° then the angle of y
reflection will be: Chosen Option ; 2

ans X1 15°
v 30°
< 3 90°
X+ 60°

Q.33 g & & Brms snoit dafien Rwresrn won Bemert & e ket 3
¥ # FEWT T B i
Wheo has recently taken charge as the new CEO of Indian e-commerce giant Flipkart?

Question 1D ;9864492308
Status  Answered
Chosen Option ;1

e HTH. AT
RC Bhargava
Xz T, T=Aarar
AL Rajwani
’ gﬂm I

X3
Sunil Duggal



J!WW

Kalyan Krishnamurthy

Q.34 st 2018 & fe= & smbiew 8w el fTnifer @ oaew wie BT
As of February 2018, who owns the Delhi-based IPL team *Delhi Daredevils™?

Question 1D : 9864492169
Status - Answered

Ans a‘ﬁa- HeareT Chesen Option =4

O
Virender Sehwag

x AT T

" Shah Rukh Khan

= e gy
Shilpa Shetty

| TAIR. T
GMR. Group

X

v

Q.35 sty fawhr o & B faew &
2w 7 ww o e w1 W W I ® Question 10 : 9864493678

T @ Fua =T

Status - Answered
&y 3w v e whEn Chosen Option : 1
U,

1. ST ¥ # 18 W § 99 Wi 15 3R § 9w A
2. ffea ¥ § 16 W & 91E W 19 W & & A

Consider the given question and decide which of the following stalements ks sufficient to
answeer The question.

When did Mr, ¥ purchase his car?
Statementsy:

I. Centainly before 13% Aungust but not before 15% Angust
2. Cerainly after 16® August but ot later than 19 August.

" g aa a1 3R 2 T @
Both statement 1 and 2 are sufficient
x , TN A HUT 1 GFCT § AT 2

Either statement 1 or 2 is sufficient
X3
AT FUS 2 TS ¥ FatE FAT 1 FuS yoOeg &
Statement 2 alone is sufficient while statement 1 alone is insufficient
o4
el 4 1 TaIsT § FEi a7 F97 2 {HI9 £

Statement 1 alone is sufficient while statement 2 alone is insufficient

Q.36 2r waw Tyt F F v F 2o, gEY B gE A R {1 D o B
A & Wy F ET g, S e 8 B2 A ¥F W o s weh B, 8 ot
# wrelr = Ft 9T FE £ 0 28 S9eE TIEY I G i S 5= e
& B B oF = aad B s Chosen Option :3

Question ID : 9864492911
Status - Answered

One of the two inlet pipes works twice as efficiently as the other, The two, working
alongside a drain pipe that can empty & cistern all by itself in § hours, can fill the empty
cistern in 8 hours. How many hours will the less efficient inlet pipe take to fill the empty
cistern by itself?

Ans B 1 8
X226
V12
X 410

Q.37 [



afy & ok sjmer = 30 #8 & T 0 S g o @ 108 52 & A sar Cuestion 1D ; 9864494072
o F gy Status : Answered
Chosen Option :1

R+JM2SHQR?=0@TFI

If the given series is written in the reverse order, then wlat will be the Sth term to the left
of the 10th term from right end?

R+IMISEQR T O TFS
Ans ?{ 1.0
p R
X337
ViF

Q.38 g gt o e 3.5 HEeR, 4.5 Wi sl e Rt S dw gl o W R ; :
& s v £ sk e T Question 1D : 9864492698

) . N Status - Answered
Find the length of a transverse common tangent of the two circles whose radii are 3.5cm,
4.%cm and the distance between their centres is 10cm. Chosen Option : 3

s x1_3ﬂﬂmH
Scm
xz_s.ﬁﬂaﬁa

3.6 cm

6.4 AT

Q.39
frfafle & & @t ar el =i & W ad Question 1D + 9864493566
Which of the following is NOT a renewable source of energy? Status : Answered

Ans Chosen Option :3
x1_ﬁ1’ﬁﬁ'

Solar energy

s AT F=A
Geothermal energy

 ShrareAt ¥ FAT

J Energy from fossils

v

Q.40 4% =il FuEeT == & 2T # 7 1250 Fr o 9r 6 a6t = e e
g

The interest on ¥ 1250 for & years at the rate of 4% simple interest per annum will be;

Ans X 1 F 350

Question 1D ;9864492807
Status : Answered
Chosen Option : 2

v 2 Z300
X 3 T 360
X 4 T 375

Q.41 of g e w1 il 30 v R S EEE T | L 7 TR

Question 1D : 9864493090
o § = .
if we take a small amount of washing soda and add approximately 1 mi of dilute Status : Not Answered
hydrochboric acid 1o i1, what will we observe? Chosen Option - -

Ans




1 TETST T T ToroT & ST 81

White-coloured precipitate is formed.
€O, u & gegaree & Wy e 81
h CO, gas comes out with brisk effervescence.
. 91T &1 &3 & 1y H, 39 Rt

H; gas comes out with pop sound.

4,

Qﬁrmmm%ﬁ#ﬁvaﬁﬁmﬁn

Only neutralisation reaction occurs, no gas is released.

X

v

x

Q.42 '
Frmfafem # @ #i7 W frwes Ry 7w R & wi oo sffe & o Question 1D - 9864494038

WESTE HN Status - Answered

Which of the options depicts the correct mirror image of the following figure. Oplion -3

WESTERN

" X NHILS3IM
*: WESTERN
v:-WA3TS3IW
*« ME2LEBW

Qi gy FimmT ax + 3y + S = 0T G- ky-T = O EF EA AN Ak :
! 1D ; 1
- . Question 1D ;9864492916

Status : Not Answered
If the equations 4x + 3y + 5 = Oand 6x - ky - 7 = 0 have no solution, then the z
value of k is: Chosen Option : -

Ans X“ -8
X228
vi-45
X445

QUP STEAF@WAR TA I E | P Pem ¥ & S & 5au @ 2 i
P is 5's mother's only son’s wife. How is P related to 57 Status - Answered
Ans HH Chosen Option : 1

G
Mother-in-law

v Tl s [aTely ST gaETer
Sister-in-law
gl

753
Sister

%

Daughter-in-law

.

Q.45 BT s i aUT g % & Question ID - 9864493493

. . Status - Answered
Non-metallic character increases from : Chosen Option : 2

s x1ﬁ=:ﬂf51m#ﬂﬂwwaa=

Magnesium to Barium



v, SETHE § FT a5
Sodium to Chlorine

X3 gJrefaas ® @ifewHd o
Potassium to Caesium

x o HFdS & Fofaaw aF
Oxygen to Selenium

Q48 7= 7 fF fam et & & vl & AT UF w0 A SRR A
£, 30 faweg w1 oow w1 St A9 8 & Ry v o s (9) 8 s awa
#l

Cuestion 1D 19864494233
Status : Answered
Chosen Option 4

]

15
4 58 |8 9E| f
10

10
A B

Assming that the numbers in each of the following figures follow a similar parterm. select
the option that can replace the question nwark {7) in figure B,

'E_ 15
fsls  o[7]s
10

10

Ans ?(1 63
#2100
X3117
v 78
““?ﬂwmﬁmmﬁmﬂ% [ Question 1D - 9864493462
Status - Answered
BTl T wEsiEE Fuas § | Chosen Option :4

Fill in the blank with the most appropriate option.

The Universal Constant of Gravitation is
Ans X 1.9.8 Nm? /kg?
X 2 6.76 X 1071° Nm? /kg?
' 2 6.67 X 107** Nm?/kg?
X 4 6.67 x 10° Nm? /kg?

Q.48

CQuestion 1D ;9864493862
Status : Answered
Chosen Option ;1




o9 OfF (problem figure) #rr & T a7 39T of¥at (answer figures) & &
frdr v # wieafem B fe ofr & fpe = of 1

Problem Figure

JAN

Answer Figures

B

A B c i

The problem figure is embedded in one of the four answer figures. Choose the comect
figure containing the following fgure.

Problem Figure

N\

Answer Figures

A

B c o

Ans f-, C
Xz2D
X8
XA

Q.49 Tl fesurg & 15% ET ¥ Tenarg & Tl o #F afy 51 W wwy oA ; ;
g g @ ww Question |0 : 9864492666

y - 5 ; Status - Not Answered
15% of an alloy was silver. If in a quantity of alloy there was 51 g of silver, what was the
quantity of the other elements in the alloy? Chosen Option : -

Ans
v 25T
280 g

X, 2047
204 g

X 3 300 ITH
300 g

x o 40T
340 g

Q.50 TIA AW 5 HAS 2005 0 W FEE G F S 3F 553 R F an g
R W A T A A Cuestion |D : 9864492713

Alizaz was borm on $% January 2015, while Faiz was born §53 days later. On which date Status : Answered
was Faiz bom? Chosen Option : 2

AN 12 SIS 2016
Nt =

12t July 2016
11 Selrs 2016
11t July 2016
0 el 2016
X3
9% July 2016

10 qalé 2016
x4
10t July 2016

v

Q.51 [



76 frier ofy oF £ of 3 oad  h vF i 450 ey o <ews wr
27 ¥Ex & w0 w4 §) @ A A B
A train travelling at 76 km'h crosses a 450 m long platform in 27 seconds. What is the

Question 1D : 9864492850
Status - Not Answered
Chosen Option ;-

length of the rain?

e x1_130 AT
130 m

Xz.ﬂu Hret
110m

x 5 100 T
100 m

v 120
120 m

Q.52 ftr wr et & & FeaflE e & 99w &6

oft FROG : 5268, RANG @ 2538 ST FORT s S & & w2 feaw
T

Question 1D : 9864493869
Status : Answered
Chosen Option -4

Selest the related word from the given altematives:
IfFROG : 9268, RANG : 2835, then FORT is coded as
Ans X 1. 9327
X 2 9762
X 39672
v+ 9627

Q53 Ry & @ w7 @ dte st 3@ 2 vt ¥ seae g B2
Which of the following reproduce both, sexually as well as asexually?

Question 1D : 9864493437
Status - Answered

Ans * 'GFFT {MQEE} Chosen Option -4
Algae
chdch
Z
Fungi
. T (Hydra)
Hydra
54 THTET
Amoeba
i~ Eﬁlé & JT T & Question ID 19864493499
The SI unit of weight is a: gl“i ::'ﬁmﬂ
Ans x " ;]m Chosen
Gram
x2 e
Kg
Newton
x 4 CEG]




S FIET FT T HIET F4r gl
is not an allotrope of carbon.

Question 1D : 9864493491
Status : Answered
Chosen Option 1

A TFhRATEET Follld
r 8 =
Buckminsterfullerene

Diamond

Carbon Dioxide

Q58 @Y BT & FIY Grer I Hr AL

Cuestion |0 : 9864493679
Status - Answered
Chosen Option ;2

&
Oﬁ?@

D
Flll in the missing space with the correct figure.

TS
C D

Q57 Frr R =1v Aofr & 90T = F e wE TEew @ 9 F1

EHI, FJK, GLM, HNO,
Select the correct option to complete the following letter series.

Question 1D ; 9864494099
Status : Answered
Chosen Option : 2

EHI, FJK, GLM, HNO,
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Who is the first female and the first ever Asian to become the Chief Human Resources S e tant
Officer of the Global Giant Unilever? She is incidentally an Indian. Chosen Option : 4

Ans x1‘=|'ﬂ'$ﬂ‘ilm'ﬂ'-{

Padmasree Warrior
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The absolute refractive index of air 15
Ans: K 1. 1.03

# 2 1.00003
X 3. 1.003
¥ 4 1.0003

Q.60 ; 2
mﬂmm@:ﬂxﬁ "":‘: Fifem I::‘:' :&f:':r i Question ID - 9864492387
; it tas of February 2018, St conl Status - Answered

AN A Chosen Option 14

v 4 Mt

Gujarat
L)

N2
Punjab

Q.61 2 e B o E S 3 s 25 3T 40 O # ey 23 ¥ el o .
Aram S w7 gT IR W 16 O & e W & i 9w i Ol A § are St AR s i)

#t sl A Tt F o T O o wrd A i e o A oam Status : Not Answered
FAEAT? Chosen Option ;-

Two pipes fill a tank when working individually in 25 and 40 bours, respectively while a
third pipe can drain the filled tank in 16 howrs. [f all the three pipes are turned on af the
same time when the tank is empey, bow long will it take to fill the tank completely?

Ans -
X1 15T 180
15 days 18 hours

xzzﬁﬁ'lﬁﬁ?
2 days 1 hour



& 16 &1 166
16 days 16 hours

x 4 1RF 79
1 day 7 hours
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Based on figures A and C, select the option that can replace the question mark (7) in figure
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Kinetic energy 15 e,qu.a] to: Status - Answered
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Which Kannada writer received the Sahitya Academy Award for lds novel “Swatantryacda

Ona™?
Ans « 1 m m ﬁ-

Bolwar Mahammad Kunhi

x , e s
Girish Karnad

x o T T TEET
C.N. Ramachandran

75 4 m
Vaidehi
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Fill in the blank with the most appropriate option,
i the genotype of a plant is tRr, the phenotype would be :
Ans

Question 1D : 9864493478
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v e 3R A
Dwarf and Round
x o AR iR
Tall and Wrinkled
x o AR gier
Dwarf and Wrinkled
x 4 wraT 3T aer
Tall and Round

A58 0.9 T T FFEE WER

Square root of 0.9 is equal to
Ans  of 1 0.9487
X203
X 3 0.9463
X 40.03
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The percentage increase in the population is highest as compared to that of the previous

vear in the vear:
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A o 1 1961
X 21981
X 32001
X 41971
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Find the length of one side of a rhombus whose area is 24 cm® and the sum of the lengths
of its diagonals is 14 cm.

Ans X1_4€iﬂvﬂu

4 cm

Question 1D : 9864492734
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Q.69 ag afamait e TP (pentadecagon) ¥ Rl A wwa R @t 2 Question ID : 9864492935
The number of diagonals in a pentadecagon is: Status : Not Answered
Ans o 4 60 Chosen Option ;-
v 290
x 330
X 4 45
Q70 forw are Fors & waiet e 1w w1 sfafafe w I e 2 3 Question ID : 9864434370
Status : Answered
\ Chosen Option : 2
Select the option that represents the number of parallelograms in the given figure.
Ans ¢1 4
X 21
X33
Xa2
s 56, 84 3T 112 &7 &1.4. frgar 27 Question 1D : 9864492922
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ans X 1.210
v 2 336
X 3168
X 4 420
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Consider the argument and decide which of the given assumptions is‘are implicit.

Argument:
A top university has reduced the syllabus of Mathematics in Class 12,

Assumptions:
1. Students can score more marks than before in Mathematics.

2. This has been done to reduce the stress and burden of the students in Mathematics.

1 3R 2 et fafea @

Both 1 and 2 are implicit
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Neither 1 and 2 is implicit

> Fao wgAw 1 g &
Only assumption 1 is implicit
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* Only assumption 2 is implicit
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‘Which of the following numbers is divisible by 9?
A of 1. 12321

Question 1D ; 9864492804
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X 2 45654
X 345678
X 412345
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Chosen Option ;2

Mﬂ;milﬂ#mmmmﬂﬁh

ferei:

1L
2. W oW ey wAE

Consider the given statements true and decide which of the given conchusions can
definitely be drawn from te given siatements.

Statements:
All apples are red. Mo red fiuits are cheap.

Concluslons:

1. All apples are cheap,
2. Red apples are not cheap.

A s, | 3 2 gt argaTer 7@ Fa €

Neither 1 nor 2 follows.

 Fa fasewd 2 HFEToT Far B
Only conclusion 2 follows.

|1 3R 2 &t sregeor F E

Both 1 and 2 follow.
4 Faer w1 HTETOT FIAT ¢

Only conclusion 1 follows.
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The tallest peak of which of the following mountain ranges is a mountain called *Gur
Shikhar?

Question 1D 9864492124
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Vindhya Range
| TR we T s

Western Ghats Range
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